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Part-A (10*2=20) Answer all Questions

1) Define Depreciation?

2) Define Partnership?

3) What is sinking fund method?

4) What is obsolescence?

5) A machine was purchased for Rs. 50,000 on 1.1.95. This expected to last for 3 years. Estimated Scrap at the end of three years is Rs. 8,000. Find out Rate of depreciation under Straight Line Method.

6) Define Single entry.

7) What is Statement of Affairs or Net- worth method?

8) Define conversion method?

9) Find out Profit form the following data:

Capital at the beginning of the year Rs. 8,00,000, drawings Rs. 80,000, capital at the end of the year Rs.10,00,000, Capital introduced in between Rs. 30,000.

10) What is Revaluation method?

Part-B (5*13=65)

 11.(a)What is Partnership Deed? Contents of partnership Deed? 

(or)

(b)A company purchased machinery for Rs. 1,00,000 on 1st Apr 1990. It is depreciated at 15% per annum on Diminishing Balance method. The accounting year ends on 31st March every year, Pass JE and create machinery and depreciation account for 3 years.

12.(a)What is depreciation and its causes? 

(or)

     (b) Raheem & co. purchased an asset on 1.4.2001 for 2,00,000. Depreciation @ 10% per annum. According to SLM books are closed on 31st march every year, Calculate amount of depreciation and pass Journal Entries for 3 years.

13. (a) Explain the characteristics of depreciation.

(or)

      (b)Mr. Raj keeps his books of accounts under single entry system. His financial position on 31.12.91 and 31.12.92 was as follows:

                                                                      1991(Rs.)     1992(Rs.)

Cash                                                                 5,000             3,000

Stock                                                              38,520           57,000

Plant and machinery                                      55,300           62,800

Bills receivable                                              15,000           17,430 

Sundry debtors                                               12,000           35,720

Sundry Creditors                                            80,000           83,000

Furniture                                                          3,000             4,220

Drawings                                                             _                 4,000

Additional capital is Rs. 30,000. Now prepare a statement of profit or loss of Mr, Raj for the year ended 31.12.92.

14. (a) Compare and contrast Straight line method and Written Down value method of depreciation?

(or)

      (b) Calculate profit or loss on sale of Asset under Original cost method:

Cost of Asset Rs. 80,000 on 1.4.2008. Find out P/L on sale of asset for Rs. 70,000 after used for it for 4 years. Provide Depreciation for 12% and accounts are closed on 31st March every year.

15. (a) Define Single Entry and explain its limitations.

(or)

      (b) Distinguish between single entry and double entry systems.

Part-C(1*15=15)

16. (a) From the following particulars prepare1) Total Debtors Ac 2) Total Creditors Ac 3) Bills Receivable Ac 4) Bills Payable Ac.

0n 1.1.92.                                                         

                                                                                           Rs.

	Total debtors
	40,000

	Total creditors
	15,000

	Bills receivable 
	16,000

	Bills payable
	6,000

	Transactions during the year:
	

	Cash received from debtors
	30,000

	Discount to debtors
	6,000

	Bad debts written off
	3,000

	Return inwards
	5,000

	Cash sales
	16,000

	Cash purchases
	7,000

	Cash received against B/R
	10,000

	Cash paid to suppliers

( including a payment of Rs. 1,000 for purchasing machine)
	10,000

	Cash paid against B/P

Discount received from suppliers

Return outward
	3,000

600

1,500

	Bills Payable dishonoured
	600

	On 31.12.92
	

	Total debtors
	70,000

	Total creditors
	15,000

	Total bills receivable
	16,000

	Total bills payable
	8,000

	
	


(or)

(b)Explain the various methods of providing Depreciation of assets.

